| | |
| | |
I \ | |
n | | |
D | REIFET ‘ |
‘E'" ‘ BERR ‘ ‘
| BRI \\\ | ‘
| ‘ —FIXBACIEN : : | ‘
ry FSA HAABAAS Rt =6.8 \ .
‘ ‘ | // BABHHSZ t =6.8 AIR B ‘
/ AIR JO-MNBBASRt =6 N SO>S K-07t =12,24 !
‘ / JO- NEBHSZ t =6 . ﬁ4wmé‘
’ I I I \ |
g | //i L thyror i 1IN | _ URSL GLts900 |
| J / _t L5 #hiER / N ‘ |
VA | ‘
/‘ ‘ ‘ 23 . //> i
/ ‘ | N FE: - D / ‘ § ‘
i | : ] 5 ol | = ﬂwi;w: h ‘
‘//‘ | ;:;:X}f‘/ RXA5ILXS-33 %ﬁl I||||Hi i |||| EEE = ic;; g;wo |
// ‘ ﬁéigégg;m—mxms) Wﬂ{ = HW 1] ‘
J LY : H . mmﬂhﬂmwﬂ el i |
L.i— — L ) |
ax —r\{ s I e ‘ ‘
‘ =t ‘
\ A T 5 |
n | Fix N T L . 1
‘ s —— RER, -
| Tz — - H- 148f1joo/xxs><9
! — M) =t
. i |
] fsv%usse: M0 T T | 2
P stPLt =16 (HH3) Jj [ — ] S C2as "~
(1 I*F}(W r\xs;uxp 33(EHR) C-T-1 |4 g I”
NN i - ] ‘
| ) | H R | Y
1Y)« 23l - w jﬂmﬂu il Jo
I A A ’les e tL‘g e : “;Eﬂﬂma*gfsr—j‘»wi NN ES =R 8 |
HIEE I | -125%125% ==i e = Lq
orazzam ||| || L N = ) S TRl T ‘ IR
[ [ | — = N | =R T o ) I
‘H ,,‘ ‘ ‘ =l RCH%T‘T?» UH = [—Bﬂﬂm e $ V2FL_GL+100 \ : )
GL+0 JloN { | K = B ! of V2FL GLF100 |
vGL J & L4 ]| ‘T@’i e TR i / S1valzo _
! 5| (g U L
Bt — —=+—o0 (iS50 g C
(BEEO~1.0m) | & i l
! L LviFL GL-850
,,,,,,,,, * B R A R R e S e R
! L1
E BN |

.0~5.9m)

34154

SR

a>oU— h&OF(CHhERE

REAOTA— L

a>0U—hR5T t =250

T3> t =60
at =60

2653




